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QUESTION 1

Recomposing a desktop pool fails with the error message:

Desktop Composer Fault: Virtual Machine with Input Specification
already exists

Which command can be used to help troubleshoot this issue?
A. ViewDbChk --scanMachines

B. vdmadmin ? -r

C. vdmadmin ? -resolve

D. ViewDbChk --disableDesktop

Correct Answer: A

QUESTION 2

One of the datastores containing a manual desktop pool is running out of disk space and an administrator adds a
second datastore.

Which operation should the administrator perform to resolve the issue?
A. Rebalance

B. Recompose

C. Storage vMotion

D. Refresh

Correct Answer: C

QUESTION 3

An administrator is over committing storage in an attempt to more efficiently use the available capacity. The
administrator needs to ensure that linked-clones are evenly distributed across available datastores. Which feature of
View should the administrator use?

A. Storage DRS

B. Storage vMotion

C. Rebalance

D. View Storage Accelerator
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Correct Answer: C

QUESTION 4

Which type of virtual machines can an existing pool contain when cloning an Automated Desktop Pool from an existing
pool?

A. RDS desktops
B. Linked clones
C. Manual desktops
D. Instant clones

Correct Answer: B

QUESTION 5

When troubleshooting issues with the View Agent, which tool can be used to generate a Data Collection Tool (DCT)
bundle?

A. msiexec
B. vdmadmin
C. vdmutil

D. Imvutil

Correct Answer: B
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